SFEEEIOv Y
O =
INSNy b
K - RS - ANSEEREHE

€

——rtt

ST w7 (7552 1 @il -
2y )= b &7 LE A MET BT
U T I LT, KU - M

E| eRrevzs nis
T EES TERURTHRERE

Hanazawa TEL 0479-86-3741 FAX 04
Material URL http://hana-ken. co.




O — o A
INT Ry NOFHE
WHAE, RS R EZNR ENRHER L. MIOIRESHRED
BRSO RE L L. FoMNEBHE T,
R Ry MO R¥uE EF e EiTnTE £,
B B o#ERPIHEHEINE T LEFx A D70y 7 TI,

B I TIHE3OKETORT L7325 2 EBL N TR,
BIGRIPEE TAE R O TR TR T

B BRARZATOERT Y 727X x A MIMTHELS %
HTIW DKM zieE LE L.

IRF oy b D TR




200

( 200)

(mm)
B x H B' L (kg)

200 x 370 | 404 @ 2000 510

200 x 600 | 530 @ 2000 1010

200 x 800 | 640 2000 1540

200 x 900 | 695 @ 2000 1850

200x 1000 | 750 @ 2000 2190

(  300)

(mm)
B x H B' L (kg)

300 x 600 | 600 @ 1500 930

300 x 800 | 700 = 1500 1380

300 x 900 | 750 = 1500 1630

300x 1000 | 800 @ 1500 1900




J—]0

S D19*200 M12
-

:E132

300

9C

15

500

650

| 2000 |
u u
i i
é n n
i i i i
2000
| PB -~ M12x52 |
'l{—————— <+

Fj 500 \\ 1000 500
2000
g{:: i I
2000
Jil : M12x52
%2{5-4/ |
2000
[
{ﬁ i
PB M12x52
2000
I |
g
A
L +
g
]
g g
)
<
| |
5 ks



500 . 1000 . 500

q
q
od 9
e i =
) ' I [
P f b
M12x52 n=4
PB:N16(L=52)n=4
500
500 1000 500
ﬁ?ij\\\\\\\ 200 300 9C ‘ ‘
N
=
e < 75 75
q g
q q
s = «
| o = I = R
J q 1—1\ % \
5
(=
S
PB
H12 52 n=4 PB:M16(L=52)n 4
2000
300 1400 300

700
600

300 1400 300

L 70 | | 1850 frg
| 2000 ]




